Form 604

Corporations Act 2001 Section 671B

Notice of change of interests of substantial holder

To Company Name/Scheme Macquarie Communications Infrastructure Group

ACN/ARSN 101 048 293

1. Details of substantial holder

Name Suncorp-Metway Limited and its subsidiaries

ACN/ARSN (if applicable) 010 831 722

There was a change in the interests

of the substantial holder on 4/12/08

The previous notice was given to the company on 25/11/08

The previous notice was dated 20/11/08

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate had a relevant interest in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

	Class of securities	Previo	us notice	Present notice		
	Ordinary shares	Person's votes Voting power		Person's votes	Voting power	
Ī		45.819.644	8.4871%	52.036.447	9.5993%	

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change	Consideration given in relation to change	Class & number of securities affected	Person's votes affected		
Since previous	Suncorp Metway Investment Management Ltd	ment Refer Annexure 2 (S		2 (S M I M L)			
notice	·		Refer Annexure 2 (T I M L)				

4. Present relevant interest

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Persons entitled to be registered as holder	Nature of relevant interest	Class & number of securities	Person's votes
Refer		Aı	nnexures 1 &	§ 2	

5. Changes in association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
Not Applicable	

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address	
Refer to A	nnexure 1	

Signature

Print name	C. Chuter	Capacity	Company Secretary
Sign here		Date	08/12/08

Annexure 1

Relevant interest holder	Registered holder of securities	Registration details	Person's Votes
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (AET)	SUNCORP CUSTODIAN SERVICES GPO BOX 5078, SYDNEY NSW 2001	33,142
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (IPT)	SUNCORP CUSTODIAN SERVICES GPO BOX 5078, SYDNEY NSW 2001	34,124
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD	SUNCORP CUSTODIAN SERVICES GPO BOX 5078, SYDNEY NSW 2001	15,399
Outward Bound Trust of NZ	NEW ZEALAND GUARDIAN TRUST COMPANY LTD	ANZ NOMINEES CUSTODIAN SERVICES MELBOURNE	22,000
Tyndall Investment Management Ltd	NSW BUSINESS CHAMBER LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 9580-16 BTTYUT 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	368,868
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF BTR	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 9580-16 BTTYUT 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	89,709
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN CORE SHARE VALUE FUND GPO BOX 5078 SYDNEY NSW 2001	4,078,883
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	15,151,810
RAC INSURANCE	RAC INSURANCE	RAC INSURANCE PTY LTD GPO BOX 5078 SYDNEY NSW 2001	425,491

Tyndall Investment Management Ltd	WORKERS COMPENSATION NOMINAL INSURER	WORKERS COMPENSATION NOMINAL INSURER C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	1,958,960
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	9,534,015
Tyndall Investment Management Ltd	CHALLENGER	JP MORGAN CHASE NOMINEES LOCKED BAG 7, ROYAL EXCHANGE SYDNEY NSW 2000	367,226
Tyndall Investment Management Ltd	OPTIMIX LTD	OPTIMIX LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	5,880,164
Tyndall Investment Management Ltd	AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	6,750,711
Tyndall Investment Management Ltd	PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	327,686
Tyndall Investment Management Ltd	WILLIAM BUCKLAND FOUNDATION	TASMAN ASSET MANAGEMENT LIMITED A/C WILLIAM BUCKLAND FOUNDATION PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	489,310
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF SEAFARERS RETIREMENT FUND	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C SEAFARERS RETIREMENT FUND A/C 11984-18 SRTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	1,256,964

Tyndall Investment Management Ltd	STEVEDORING EMPLOYEES RETIREMENT FUND	JP MORGAN CHASE NOMINEES A/C STEVEDORING EMPLOYEES RETIREMENT FUND LOCKED BAG 7, ROYAL EXCHANGE SYDNEY NSW 2000	1,053,824
Tyndall Investment Management Ltd	NRMA TREASURY LTD	JP MORGAN CHASE NOMINEES LOCKED BAG 7, ROYAL EXCHANGE SYDNEY NSW 2000	617,130
Tyndall Investment Management Ltd	CATHOLIC SUPER FUND	CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	2,500,704
Tyndall Investment Management Ltd	CAMBOOYA PTY LTD FOUNDATION ACCOUNT	TASMAN ASSET MANAGEMENT LIMITED A/C CAMBOOYA PTY LTD FOUNDATION ACCOUNT GPO BOX 5078 SYDNEY NSW 2001	329,740
Tyndall Investment Management Ltd	CAMBOOYA PTY LTD	TASMAN ASSET MANAGEMENT LIMITED A/C CAMBOOYA PTY LIMITED GPO BOX 5078 SYDNEY NSW 2001	663,842
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE INCOME FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE INCOME FUND GPO BOX 5078 SYDNEY NSW 2001	86,745

TOTAL UNITS 52,036,447

Annexure 2 (S M I M L)

No Transactions from 20.11.2008 to 04.12.2008

Annexure 2 (TIML)

PORTFOLIO	TRADE DATE	TRADE	TYPE	AMT	PRICE	UNITS	
AMP CAPITAL INVESTORS							
AMPC	26/11/2008	Purchas	es	46167.92	0.818	56440	
AMPC	28/11/2008	Purchas		320218.3	0.8082	395199	
AMPC	01/12/2008	Purchas		85073.12	0.8175	103799	
AMPC	02/12/2008	Purchas		23007.12	0.8056	28486	
AMPC	03/12/2008	Purchas	es	166696.3	0.8041	206778	
AMPC	04/12/2008	Purchas	es	175005.1	0.7988	218525	
	STRALIAN SHA						
TASWP	21/11/2008	Purchas	es	286364.7	0.93	307132	
TASWP	24/11/2008	Purchas	es	105957.6	0.7849	134650	
TASWP	26/11/2008	Purchas	es	53735.24	0.818	65691	
TASWP	28/11/2008	Purchas	es	391807.3	0.8082	483551	
TASWP	01/12/2008	Purchas	es	130341.8	0.8175	159032	
TASWP	02/12/2008	Purchas	es	14259.31	0.8056	17655	
TASWP	03/12/2008	Purchas	es	104376.8	0.8041	129474	
TASWP	04/12/2008	Purchas	es	117835.8	0.7988	147139	
CAMBOOYA PTY LTD							
CAMB	03/12/2008	Purchas	es	6761.26	0.804099	8387	
CAMB	04/12/2008	Purchas	es	7142.76	0.7988	8919	
CATHOLIC SUPER RETIREMENT FUND							
CSRF	24/11/2008	Purchas	es	18292.54	0.7849	23246	
CSRF	26/11/2008	Purchas	es	9245.04	0.818	11302	
CSRF	28/11/2008	Purchas	es	66334.44	0.8082	81867	
CSRF	01/12/2008	Purchas	es	21856.13	0.8175	26667	
CSRF	03/12/2008	Purchas	es	18546.53	0.8041	23006	
CSRF	04/12/2008	Purchas	es	20770.76	0.7988	25936	
CHALLENGER	₹						
CHALL	26/11/2008	Sales		184356.5	0.8144	226371	
OPTIMIX							
OPTI	24/11/2008	Purchas	es	31671.61	0.7849	40248	
OPTI	26/11/2008	Purchas	es	15268.79	0.818	18666	
OPTI	28/11/2008	Purchas	es	117126.3	0.8082	144552	
OPTI	01/12/2008	Purchas	es	36862.91	0.8175	44977	
INVESYS SU	JPER RETIREM	/IENT					
BTR	28/11/2008	Purchas	es	2878.08	0.808198	3552	
MERCER IN	VESTMENT						
MERI	25/11/2008	Purchas	es	1191830	0.85	1400000	
MERI	26/11/2008	Purchas		47738.48	0.818	58360	
MERI	28/11/2008		es	329521.8	0.8082	406681	
MERI	01/12/2008	Purchas	es	88630.16	0.8175	108139	
MERI	02/12/2008	Purchas	es	18002.83	0.8056	22290	

MERI	03/12/2008	Purchases	135080.3	0.8041	167560
MERI	04/12/2008	Purchases	146205.8	0.7988	182564
NSW BUSINE	SS CHAMBER I	LTD			
ABL	24/11/2008	Purchases	2825.8	0.784898	3591
ABL	28/11/2008	Purchases	10356.06	0.8082	12781
PUBLIC TRU	ISTEE OF ACT	Γ			
PTACT	24/11/2008	Purchases	2353.66	0.784901	2991
PTACT	28/11/2008	Purchases	8598.58	0.808199	10612
RAC INSURAI	NCE LTD				
RACI	03/12/2008	Purchases	12025.55	0.8041	14918
RACI	04/12/2008	Purchases	13008.95	0.7988	16245
SEAFARERS	RETIREMEN	T FUND			
SRF	01/12/2008	Purchases	7550.92	0.817499	9213
SRF	03/12/2008	Purchases	10850.92	0.8041	13460
SRF	04/12/2008	Purchases	11541.01	0.7988	14411
STEVEDORI	NG EMPLOYE	ES RETIREM	MENT FUND		
SERF	01/12/2008	Purchases	6146.96	0.8175	7500
SERF	03/12/2008	Purchases	8857.28	0.804099	10987
SERF	04/12/2008	Purchases	9414.76	0.7988	11756
TYNDALL A	USTRALIAN C	ORE SHARE	VALUE FUND)	
TACSVF	24/11/2008	Purchases	523118.2	0.7849	664774
TACSVF	26/11/2008	Purchases	5694.1	0.818	6961
TACSVF	01/12/2008	Purchases	16033.73	0.8175	19563
TACSVF	02/12/2008	Purchases	8286.63	0.805599	10260
TACSVF	03/12/2008	Purchases	74017.62	0.8041	91815
TACSVF	04/12/2008	Purchases	79228.58	0.7988	98931
TYNDALL AU	STRALIAN SHA	RE INCOME I	FUND		
TASIF	03/12/2008	Purchases	3393.93	0.8041	4210
TASIF	04/12/2008	Purchases	3471.68	0.7988	4335
WORKERS (COMPENSATION	ON NOMINA	L INSURER		
WCNI	24/11/2008	Purchases	14454.77	0.7849	18369
WCNI	26/11/2008	Purchases	7321.92	0.818	8951
WCNI	28/11/2008	Purchases	52490.97	0.8082	64782
WCNI	01/12/2008	Purchases	17301.64	0.8175	21110
WCNI	03/12/2008	Purchases	15267.86	0.804099	18939
WCNI	04/12/2008	Purchases	17009.18	0.7988	21239